
Test of Wuthering Heights   P49-99
一、单选
1. Who died of fever？

A. Mr. Earnshaw    B. Mr. and Mrs. Linton      C. Catherine

2. After her marriage, Catherine became ________________.

A. kind            B. happy          C. less bad –tempered
3. We may guess that Catherine ______________

A. has been loving Edgar ever since they get married 

B. has come to love Edgar ever since they get married

C. loves Edgar more than he does her

D. at first had a bad temper because she was unhappy with Nelly and the servants.

4. When Heathcliff came back, Catherine was __________.
A. excited          B. annoyed         C. calm
5. After coming back, Heathcliff stayed at __________________.

A. a hotel          B. Wuthering heights     C. Thrushcross Grange

6. When Heathcliff returns from being away, which social class does he belong to?

A. aristocracy      B. gentry (upper-middle class)       C. working class

7. ____________ was falling in love with Heathcliff after his frequent visits to the Thrushcross Grange.

A. Catherine       B. Catherine’s sister-in-law, Isabella    C. Nelly

8. Catherine says Heathcliff will never love Isabella, because ________

A. she knows Heathcliff is a vindictive man and doesn’t mean well to the Lintons

B. she wants to keep Heathcliff to herself and says it to scare Isabella away

C. she doesn’t want Heathcliff to be married to a girl she hates so much

D. she doesn’t think Isabella will make a good wife for Heathcliff

9. Catherine was ___________ because she couldn’t bear the idea that Edgar wasn’t spending time worrying about her.  

A. furious       B. sad       C. calm
10. _____________ were riding horses that Nelly heard at two in the morning.
A. Hindley and Hareton    B. Heathcliff and Isabella    C. Linton and Catherine

11. Catherine fell ill because _________.

A. He saw Heathcliff kiss Isabella      B. she couldn’t live without Heathcliff

C. she was expecting a baby          D. she thought Nelly was a witch

12. Heathcliff felt great ________ when hearing Catherine’s death.
A. relief            B. grief           C. fear
13. Why wouldn’t Heathcliff let Isabella stay with Nelly?
A. Because he felt lonely without Isabella 

B. Because he wanted Isabella to suffer with him.

C. Because he feared that Catherine would haunt him.
14. ________ months after Catherine’s death, Hindley Earnshaw also died. 
A. Four      B. Five      C. Six

15. After Hindley’s death, ______ inherited Wuthering heights.

A. Hareton       B. Heathcliff      C. Edgar
16. Who is the other boy that Heathcliff is referring to?
A. Hareton Earnshaw       B. Linton Heathcliff       C. Joseph
17. Heathcliff wanted his son to marry Cathy because__________.

A. he knew they loved each other        B. he wanted her to live at Wuthering Heights

C. he wanted to own Thrushcross Grange.    D. he thought she was lonely 
18. What was in Linton’s will?
A. He loved Cathy and feel sorry for her.

B. He left all his property and also Cathy’s to his father.

C. He expected his father to treat Cathy well.
19. How many characters have died in this tragic story?

A. eight     B. nine     C. ten 

20. What is the correct order of the following events？
a. Heathcliff runs away from Wuthering Heights and makes a lot of money.  

b. Heathcliff arranges the marriage of his son to Catherine’s daughter.  

c. Heathcliff becomes the owner of the Thrushcross Grange.  

d. Heathcliff and Catherine become close friends. 

e. Heathcliff goes to visit Catherine for the last time before she dies.  

A. e, a, b, d, c          B. d, a, e, b, c        C. d, a, e, c, b,  
二、多选题

1. Why might Heathcliff want to marry Isabella?

A. for love 

  B. for his neighbor’s property
    C. for revenge 
2. How is Catherine’s madness shown？

A. She tore her pillow with her teeth.

B. She opened the window and put her head outside.

C. She burst into tears and started to throw the feathers from the torn pillow.
3. Edgar was anxious for Catherine to get completely well again because__________.
A. He couldn’t bear her madness any more. B. He loved her.  C. She was expecting a baby.
4. What did Nelly see when she visited Isabella at Wuthering heights?
A. Heathcliff didn’t look well.   

B. Isabella was pale and her hair was untidy.  

C. The room was dirty.
5. What was Cathy look like?
A. She has dark eyes.    B. She has fair skin.      C. She has blonde hair.

6. Who did Catherine meet on the moor on her sixteenth birthday？

A. Heathcliff          B. Linton                C. Hareton
7. Heathcliff wanted _________ to fall in love and get married.
A. Linton            B. Cathy                  C. Hareton
三、T/F questions 
1. Heathcliff hurt Isabella’s dog because he wanted revenge on the Lintons.

2. Edgar didn’t try to stop Isabella from marrying Heathcliff.

3. Before her death, Catherine didn’t forgive Heathcliff because he broke his heart.

4. Cathy was fierce and passionate like her mother.
5. Linton is a strong while Hareton is weak.
6. Nelly knew that it was Linton who wrote letters to Cathy.
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